01.2021
L.O:- To add three 1-digit numbers

Use your number bonds to 10 learning to help you complete the calculations:

®r4+@: 8+24+7=




<>

Use the more than, less than or equals symbols to compare the following
number sentences:

4+6+3<>5+3+5

9+2+5<>a+3+5

4+4+3( )5+9+1

?+3+3<)5+3+2

Find the total for each row and column:

4 Challenge

6 Dan spent £2 on a paintbrush,
7 £6 on a sketch book and £8
on paints. How much did it

all cost?




07.01.2021
L.O: To find number bonds to 100 (tens and ones).

Use your number bonds learming and the hundred squares to help you with the calculations.

12124 5(a6]7])8]9 112124567 ]|8]9 112 ER R

T12) 12415 | 16|17 1B]19 M2 12415 |16 (171819 1112 1718

2122|223 | 24|25 (26|27 | 28|29 21222324125 (26 (2728129 21|22 27|28

31| 32|33 )34 )35 36|37 |38 )34 31| 32|33 34 )35 |36 (37|38 )39 31|32 a7 |E8

41| 42|43 | 54|45 (&b |47 | 48|49 &1 |42 (&3 )| &4 |45 (&b (47 | 48 | 49 41|42 47 |48

5152|5354 |55 (56|57 )58]59 51|52(53) 54|55 (56 (575859 51|52 57| 58

B | 62| 63 ) &4 | 65 | 66| &7 | 68 | 69 B1 | 62 (63 ) &4 | 65 &b (&7 | 63 | 69 &1 | &2 &7 | 6B

U 72| 73| 74| 75| 76|77 | 7B 70 U 7273|7475 | 76|77 7R 79 FA N ) 77|78

Z2|B|8|E|5|& |8

81| 82|83 |84 | 85| B6 |87 |88 |89 81|82 (83|84 |85 | B& (&7 | B8 | 89 81|82 87 |88

8

91| 92|93 |94 )95 |9s |97 |az| a9 91 |92|9z|94 |95 |94 |97 |qa|q9 91|42 a7 |98

If 25 squares are shaded, If 39 squares are shaded, If 56 squares are shaded,
how many are not shaded? how many are not shaded? how many are not shaded?

112124567 ]|8]9 1121245 &6|7(8]9 112124 ]|5(&(|7 )8

-
(=]

T2 121415 (1617 ] 18] 19 T 12121415 [ 16|17 ] 18
212223 24|25 (26|27 2829 21|22 23|24 |25 26| 27| 28

M 12134151617 18] 19
2122|2324 (25 (26|27 28|

L]
k=]

31|32]|33|34|35 |36 |37 |38 |39 31| 32|33 (3435|3637 |38)|39 3132|3334 |35)36| 37|38

A1 [ 42| 83| 24| 45 (46| 47 |48 (49 A1 (42|43 ) &4 )45 (46|47 |48 (49 41|42 | 43 | &4 | 45 | 46 | 4T | 48

5152|5354 (55 (56|57 |58(59 51|52 |53 |54 )| 55| 56|57 |58 (5% 51|52 | 53|54 |55 54| 57|58

G| 62| 63 ) &4 | &5 [ &8 | &7 | &8 | 69 BT | 62 (62| b4 | 65 | bb | &7 [ &8 | &5 B1| 62| 63 ) b4 |65 | b8 | &7 | 63

U 72| 73| 74|75 | 76| 77| 7R T M 7273|7475 | 76| 77|78 T4 72|73 74|75 | 76| 77| 78

2IB|2|8|8|8 |8

B1|BZ| B3| 84|85 (Be |87 |B& |89 81| 82|83 |84 |85 | Bb | &7 | B8 | B9 B1|B2| B3| B4 |B5 | B& | BT | B

91|92 93|94 |25 |98 |97 |98 |99 91|92 (93|94 |95 |96 |97 |az|ag 9192|932 |94 |95 |95 |97 |qa

g

Iif 22 squares are shaded, If 97 squares are shaded, If 63 squares are shaded,
how many are not shaded? how many are not shaded? how many are not shaded?

Jamie is making 100 using dienes blocks. How much more does he need if he has:

2 tens and 8 ones
__+__=100 | | | |

__+__=100

Chris has completed the missing
number sentence.

46 + 64 = 100

Is Chris correct?
Expfclin your answer.




Fridag Maths Warm U p I I can complete 2 times table calculations.
0x2=

I can count in 2s. Fill in the blanks.

0
2




08.01.2021
L.O: To add two 2-digit numbers.

55+ 12 =

Tens

5 ones + 2 ones =
5 tens -
S5tens+ 1 ten =
__tens + ones =

__ones+ __ ones =
__tens+ ___tens =
__tens + ones =

__ones+ __ones=
__tens+ ___tens =
__tens+___ _ones=___




__ones+__ones=___
__tens+ ___tens =
__tens + ones =

__ones+ __ ones=
__tens+ ___tens=

__tens + ones =

Challenge: Sammy has 14 sweets. She goes to the shop and buys 65 more sweets. How
many sweets does she now have altogether?

__ones+ __ones =
__tens+ ___tens =
__tens + ones =




